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VLF VF MF HF VHF

|
| | | | |
otEHm] 10° 104 103 102 10

|
|
1
Ol .4 X|[eV] 1.24 x 1011 1.24 x 1010 1.24 x 10° 124 x 10®  1.24 x 107 1.24 x 10®
UHF SHF EHF Sub-mm IR

| | | | | |
ot [m] 1 107! 10-2 103 104 780nm

|4 X|[eV] 1.24 x 106 124 x 10> 124 x10% 124 x103 124 x 10~ 1.59

Visible uv X-ray y-ray

_ | | | |
0 780nm 380nm 10nm 1A

o4 X|[eV] 1.59 3.26 124 1.24 x 104 10A =1 nm
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VLF = Very Low Frequency

LF = Low Frequency

MF = Medium Frequency

HF = High Frequency

VHF = Very High Frequency
UHF = Ultra High Frequency
SHF = Super High Frequency
EHF = Extremely High Frequency
Sub-mm = Sub-millimeter wave
IR = ™ Q| M(Infra-red)

Visible = ZFA[&M

UV = X}2| X (Ultraviolet)

X-ray

Gamma-ray
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Si = 0.6 eV

GaAs = 1.35 eV

InP = 0.95 eV

— A=13pum (ZEA)
CO, =42¢eV

AbA 6.62x1073 J-s

1.24
EleV) =
A(um)
E=hyr n 23
c=p\ = &% 3x10m/s

—

= L& (wavelength)
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Standard Model of

FUNDAMENTAL PARTICLES AND INTERACTIONS
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matter constituents
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Abo} o9 7% 4
1 2}y }t | rad 180°/n = 57.2957795° = 206 264.8"
1(z9]) = 1° 0.01745329 rad
1(Ze)) 2 1" 0.000004848 rad
I ¢ 2.997925% 10* ms™"
{44 G 6.67X10"" Nmkg™? = 4’AUMp'a?
#4932 4 h 6.6256 10> Js
# hi2m=1.0545%10"*Js
2 g5 k 1.3805x 102 JK !
BA S AR a 7.5643% 107" Jm K ~*
2EH g -F2 A4 a acl4=5.6693x10"* Wm~?K™*
U} A% &9 amu 1.6604 X 10"% kg
Az §= eV 1.6021 X 107"
Azte] s} e 1.6021 X107 C
Az}e) A% m, 9.1091 X107 kg = 0.511 MeV
FAAS] A m, 1.6725% 10" kg = 938.3MeV
FA2e] AP m, 1.6748 X 10~*" kg = 939.6 MeV
'H 82}2] = my 1.6734 X 10°7 kg = 1.0078 amu
‘He 9] A% Mye 6.6459 X 10~% kg = 4.0026 amu
'He lEw23 A5 Ry 1.0968 X ' m™"
Aol gl 7449 HEvj2a AT R 1.0974% 10" m ™"
218 A5 R 8.3143K ™' mol™"
xF 718 atm 101325 Pa = 1013mbar = 760 mmHg
AF 99 AU 1.49597870% 10" m
s} Al pc 3.0857 % 10" m = 206265 AU = 3.26ly

$d ly 0.9461 X 10 m = 0.3066 pc
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Planck &b
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1,6E053  +0.00006  «10-27kg
2997925 +0,000003  =108m/s
1,60219  +0.00007  x10773¢C
964867 000016 %10°C/mol
02217 000028 2102%maol~
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1, 67482 u
1,00728  +0.00008  «10-27kg
1LET261 00004  w10-37kg
910956 +0.000019 %1077C/kg
1,750203  £0.0006  w10727/T
9, 2741
8.3143 00012 wl/malk
1,38054  +0.00018 w10-280/7K
B.EZEZ 00005 w107%40.5
1.0548 00000 w10-34s
B29167  +0.00007 w10~ 1m
281777 000011 »1077%m

1.097373 £0.0000003 2107 m™

129735

+0.00010 w0

A 1L
!

-~
£ £

TR ComptonThE
(nC =him i,

LR T2 Compton Tzt
(AC =h/m_c)
=3 *2| ComptonIhar
(aC_=h/m_c]
1eV2| ML 7
levHl iS5l =
levl iS5t ohE
leVH| HE5t= o
Tet| ==
levl S5t 2
{1u=931, dhey)
Planck2| SAtHEH
oD = &

wien2| HER(n, T

Soh=

Stefan-Baltzmannih=

- _

o] SDHe| HeEE 25
== = o

o AEHS| HEEE 25

242621

1.32140

1.31958

1.60210
2418
1,240
0. 8066
1. 1605

1.074

C.=2mch 3741844
Co=hc/k 1430833

2891
5.6636

BB

3. 80665
273,15
21316

) S|
+0.00006 %1077 2m
+0.,00004 =107 %m
+0.00004 %1077 5m
w1019,

#107*Hz

=107 8m

w108m~"

w104K

w1071
#1077 8% 2

w10 2mk
+0,0004 =210 Smlk
+00,0029 w108
W mek*

w1077

+0.015

w1078

m/ 52

K

K



http://blog.daum.net/hongbkim/3699

